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e Example 4.11, page 80
Step 4 in the example should be:

4. Compare the test statistic to a crtical value based on alpha and the
distribution of the test statistic

B 0.0250 x 360+ 0.0102 x 197 11

B = 0.0197 or 1.97%
P 360 + 197 ccy
0.0250 — 0.0102 0.0148
£= =7 = 1.188
|I|] 0197 x (1 — 0.0197 1 1 v0.0194 x0.008
{00197 x (1= 0.0197)x [585+ 197]

Note: the denominators should be 360 and 197 (as shown above) and not 360,972 and
197,734 as printed in text.

e Example 5.7, page 93—94

The test statistic in step 3 should be -2.64, not 2.64.In step 5, the second sentence
should read, "The value of the test statistic is -2.64, which is less than -2.030," but we
can still conclude that the null hypothesis should be rejected as stated.

e Example 6.3, page 118
The headings on the last column of the calculation table should be: (X-X)- (Y-¥).

Note the exponent (squared) should not be in that formula. The values in the table are
correct.



